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RFEEE 1102 H AL EBhEET

SEEIRNL 5 528 =5

BANE 11 12 23
A 17 22 39
(EZPN 8 12 20
A AE 4 6 10
JEC AL 5 6 11
VPN 10 12 22
YN 2 2 4
T 57 72 129




SRFEEE1105E3H AL EBhET

SEEIRNL 5 528 =5

BANE 18 26 44
A 36 25 61
(EZPN 9 21 30
A A B 6 7 13
JEC AL 8 4 12
VPN 7 7 14
YN 3 3 6
T 87 93 180




RFEEE110FE4H A EBET

SEEIRNL 5 528 =5

BANE 17 22 39
A 22 24 46
(EZPN 9 20 29
A AE 5 8 13
JEC AL 9 4 13
VPN 6 6 12
YN 3 3 6
T 71 87 158




RFEEE 1105 H AL RZBhET

SEEIRNL 5 528 =5

BANE 8 22 30
A 14 26 40
(EZPN 14 14 28
A AE 7 2 9
SEC A 11 7 18
VPN 7 7 14
HEPN 1 1 2
T 62 79 141




RFEEE110E6H AL RBhET

SEEIRNL 5 528 =5

BANE 14 7 21
A 14 24 38
(B PN 7 4 11
A A B 7 7 14
JEC AL 16 5 21
VPN 7 7 14
YN 2 2 4
e 67 56 123




RFEEE 11067 H AL EBhET

SEHIR 5 2L =ri

BANE 13 20 33
BH AR 22 23 45
(E=VN 15 11 26
AN 4 6 10
SECAEL 6 6 12
SEHEPN 5 5 10
3PN 3 3 8
deEt 68 74 144




SRFEEE110E8 H AL RBhET

SEEIRNL 5 528 aaf

BANE 22 29 51
A 17 23 40
(B PN 12 14 26
A A B 4 3 7
SEC B 11 7 18
VRPN 0 0 0
YN 4 4 8
4Ezt 70 80 150




RFEEE110EOH AL EBhET

SEEIRNL 5 528 =5

BANE 15 14 29
A 24 41 65
(EZPN 17 11 28
A AE 6 3 9
JEC AL 12 2 14
VPN 8 8 16
YN 5 5 10
e 87 84 171




RIEE1109- 103 A O 2=Ehaeat

SEEIRNL 5 528 =5

BANE 14 17 31
A 19 31 50
(EZPN 16 22 38
A AE 5 3 8
JEC AL 9 10 19
VPN 11 11 22
YN 2 2 4
T 76 96 172




RIEE1109:11 3 A D 2= Ehaeat

SEEIRNL 5 528 =5

BANE 18 24 42
A 29 30 59
(EZPN 20 18 38
HAE NB 4 8 12
JEC AL 11 5 16
VPN 9 11 20
YN 2 2 2
T o3 08 189




RIEE11012 3 A O #=Ehaat

SEEIRNL 5 528 =5

BANE 18 17 35
A 22 33 55
(EZPN 6 13 19
A AE 5 4 9
SEC A 20 9 29
VPN 8 8 16
YN 6 6 12
T 85 90 175
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